TRIVEE BBEF—H%/7 2 b

[astimms|

1) 2x*x (x®?

= 2x2x %"
-2
2) 5x°—12x+4 1 -2 —10
— (55—2) (x—2) 57 5 _ s
—12

3 (2+V3)(6 —2)
=206 -2/2+/18 46
=2/6 —2/2+3/2 6
=y6+y2

4) 2%*+5x+1=0

—bEy 5°—4X2X1
x:

2X2

—5E4 17
4

(5) 8+bx > 3x+7 B &
Sx—3x > 7—3
2x > 4

L7coT, CoOLRERXEZHI-dTx i}
x=3, 4 '

6) y= —2x*+5icx=—1%LALT
y = —2(—1)"+5
= —2+5
=3

M v=ax*0r57%, THANE (p, ¢) WD L
TR E LSS 7
y=alx—p)l+qg tEKxn3,
R A e LA

B y=x"+t1 o —1=x<3

KBFBS 57, KOk ’
18 B,
LichiaoT
x=30DLE, HEAME 10
x=0D&%E, BME 1
N
71:0 3 X

ST alf@% Nol

9) y=ax’+bxtcDs 57 & xEOIESOEYK
1%, b'—dac DHEDFETHD 5,
p'—dac=2"—4-1-(—1) =4+4=8>0
Licnai-T 2

1) x*—x—6<=<0
(x—3)(x+2) <0
Licdsi-T
—2<x<3

B

la—-1] HELFE
1) K&y

cos A =

flen ]

(2) Plx,y) & X
tan6=%’6%57b>%

V3

tan 120° = = 5 3

5+

8) AABCOmHE%ES £¢ 5L,

S =%absinc THBENMS
1 - o
S = 7><5><6>< sin 150

1 1
2 30 2

15
2

4) IEREBEED N
AB _ 2
sin 60° sin 45°
2 sin 60°
AP sinas G
= 2 sin 60° + sin 45°
2 Tz
:{gxéi
-5

{5) Hgiﬁﬁﬁ%mﬁéo
M8 D ATE I,
5 XA
TRE B, LizdisT
sk B ARG X

—%Xﬁﬁ%@2=1%n

[a—2]1 FERE

(1) AB<BC<CA X C< /A< /B

(2) BDABERKE®S
£ZBAD = 90°
L7h5-> T ZADB = 90°—40° = 50°
Bl U 2HAAERELVOT
/ACB = /ADB = 50°

(3) PUMAE ABCD MicHELTWADT
ZBAD = 180° —105° = 75°
BRIZEO-L AAOTFEEICLD
ZADB = £BAT = 50°

L?‘:Z‘ﬁaf
ZABD = 180° — (75° +50°)
= b5°

4) AxzoFEHICLD
AP-BP=CP-DP Tk ah 5

(5) A B ,
/ )
NG &
0 6

EXD & Hic 0" %@ AB & EITBEBRES =
OA L DX EHE A &35,

T 5 & AOO'A FEA=ZMET

ON =5—-4=1

=SEFHOERL D

AO*+1 =6 Th 25

AO'% =35

ANO =435

Lizti->T, AB=A0 &b

AB =435

[a—-3] £&5&LHE

(1) 0RITOHAREDS S, 40/BKOEEE
{4X1, 4Xx2, 4X3, - , 4X12}
THBEDD

12

2 AW, UDEH#TH-TADERTRHEVLDI
DT, '
A =134, 6,8}
LicdhiaT
ANB= {38}

3) ) 20f58EB4 0K EERBVOT &

(BHl 61320 THE4OBE TR
W)

M) x=11K5iFa"—4x+3=013 H

) ac=bcholFa=0bt@FEeHRVDT B
(REl a=1,b=2,¢=0 D&% ac=be
ThHBEha=xb)

@ x<3kodx<4id

Uk HETh2b0DI

S
(\_’
E




PHRI9EE BRER P -F/FNT X b

(4) TPusgiz ABCD 230 LIE = M2 ABCD 28 (EF
El Rk B EAETRVWOLIENSZRD)
[PU3Z ABCD #281E47E = WA ABCD A0 L
Elir E
Ll o THRBELEETH 280 BT VLR
5 )

B) HHE [x=4p>y=2701E, xy=87Th5s.]
Zomild B

It

[a—4] BEOHLEE

1) P, =5><4><3=60 (D

TX6XhH
2 4G = 3X2X1

=35 GAD)

1
(3) AfJ>BBf\Li~3;—L1—!=4 GED)

1
BmecA¢p§§:3<@@>®ﬁ&w@5ﬂa
A B AT C~ifl Hik

4x3=12 (GEY)

(4) Koo I HoEks ofEE I 3EEIY B3 Hik
i3 ,CohHb, COIEHEK4E®»S 2, 2
o> S 1 MEW BT & ,CoX,C, Y T
BB, ko TRDBHERIZ

43
— X
Ly XCy _ 2-1 5 _ 2:3°5 :i
.C, 9-87 347 14
3-2-1 —
o o1 111
6) % F B BEHIMER XXXy
EO 2N ECTHB M ,C, Bh DIBEHSH D
DT
111 1 _ 43 /1
$CpXg Xy Xy Xy = -1X<z>
PSOND S
= 6x— -3

SIa & N2

[a—-5] HRALREX

oY)

X 6x = 7
BELT x*+t6x—7=0

EAEREAE LT x+D(x—-1) =0

x= -7, 1
R <L omme s EpyT
x—2 X
X -
6 7 < 6X 3
3(x—2) < 2«
3x—6 < 2x
3x—2x <6
x<6

(V6 +43) 258, HTLIT
3(Y6 +/3)
(V6—/3)(¥6+43)
 s((E+5)
- (8)-(V3)
_3(V6+v3)
63
_3(y6+v3)
3
=6 +43

(x—1D*x+1)?

= {(x—=Dx+D}Y
_ (x2—1>2

= (x)"—2-x%1+1
=x'—2x"+1

x'—dx+hk =0k x=1%fKALT
1*—4-14+k =0
1-4+k =0

k=3

[a—6] 2REE# (2 RARFRKIIKC)

1) 2By =alx—p)+q ®7 5 7 OTEHSOEE
T, q) THA,
LieHoT, y=—(x—=2)"+5 075 7 DIHSD
BEiEE (2, 5)

Q) 2By =x"+3x+2 Dy 57 L x B OMHE
HO x B, RN 342 = 0 OTH B,
AR AR LT (x+2)(x+1) =0
LichinoT x=—2, —1

8) y=x"-6xtk ZEFLT
y=(x—3)+k—9
LT, x=3D¢LEF/MEEL—9 % LEB0
E—9=—-4X%D k=5

4) 2VRBIEty = ax®+bx+c © IS5 7 x i & Hd
&Mt b —dac = 0 TH b,

LizhioT
4 —4-1-(—m) =0
16+4m =0
im = —16
m = —4

B) y=x"+bx+c DI 7M2H (1,0 & (3, 0)
WL D,
x=1, v=0%2KALT
1+b+c =0 @
x=3, y=0%2RALT
9+3b+c=0 - @
@-0O&D
8+2b =10
b= -4
DIRRALT 1—-4+c=04&D
c=3
Lid->T b=—4,c¢c=3

(Bl
y=x"+bx+c 7 I 7hxlhE 24 (1, 0),
3, 0) TRbHBDT,
ZOBEIEy = (x—1D(x—3) &3,
EELT, y=x"—4x+3 kb
b=—4,c=3

[a-7] EELEHE
(EREE, SWTE EREOHERER)
)

o 1
30° =
Sin 2

(2) sin®@+ cos’ =11 cos B = % EZRALT
L 3)2:
sin 6+<4 1

9 16 9 7

in’ = ]1—-——— =
SO =1"96 =76 16 18
6 DS OT, sind >0 kb
o 7 AT
sin 8 = 6 — 1
(178 3 sin 120° = g
2
~\120° cos 120° = fé-
—2 -1 0 9
ToLktisT
1 o . o \/? ]. > _ \/?
sin 120° X cos 120° = % (—7 e

4) cos(90°—0) =sinh THAHMhE
cos 70° = cos(90° —20°)

= sin 20°
Ltedi-T Q
(5) INVT tan@:ll*1 )]
(-11) . ]
ERO L HIiE 5,
J2
45° \9 X -7,
—/z -0 2% g 135°




T

(1) o TsevT
—(/2+1)

V3T

21 _3-42

2-1 3—-2
= Y2 -1-y3+y2
= —1—y3

@ 2 2xy-+yi+dx—4y+3

= 22+ (—2y+Dx+ (yi—4y+3)
=+ (—2y+Dx+(—-1)(y—3)

= {x—G-D}Hr—G-3)}
= (x—y+1){x—y+3)

W2 -DEW2+1) (3+v2)H3-—v2)

1 —(y—1) = —y+1
< (y-8) — —y+3
—2y+4

(Gl
22— 2xy+yit+dx—4y+3
= (x—y) +4(x—y)+3
IIT,x—y=ALT5BLE
HR = A +H44+3
= (A+1)(A+3)
= (x—y+1){x—y+3)

4x—1 2x
(8 5 —«37—+1<0
M54 DT
3(4x—1)—5-2x+156< 0
2x+12 <0

x < —6

) TEAOFEEN (3, 2) KoT,

y = (x—-3)"+2

=x*—6x+11
LEanb, FEHELBLT

b= —6, c=11

2O 2 R

ST 8#E Nl

(5) —x'+x+1=0
A —1 %53 7T
¥i—x—1=<0 %<
F—x—1=0&BLE
_ 1+y5
2
1—;/? << 1+y5

B 2

£ -7,

(6) THEDEAEN (=3, 1) & 5D,
y=20x 341
Iy = 2x+12x+19 &H]]

M 0°=0=<180° 0& &,

sinH:%J:lO, 6 = 30°, 150°

(8) HEoflmtE, KoxEEELZNENS,, S,
ETBE
S, = 27x5%10 = 1007
S, = 4rX5% = 1007
& =T, MEOMERE S koFRmMBEO LI
S, 1 S, =100z : 1007 :g
(9) AABCIZBWT, REKERICLD

(8 2)' 4757
cos A = —F———

2% 3y 2 X7
42 1
= = x
ox3 2 <7 y3 P
ZA = 45°

W05 v=x"—2kx+k
= (x—k)'— ki +Ek )
x =k CE/ME R +EEEBZDD

= —k'+k
e

xoT, ki 5 (k=g o)

[ s

(8
(L

—1] FEHE®E

LB W T

ZABO+ £ZBAC = LACO+ £BOC
= 20°+50°
= 70°

L -T LABO =70°—4ZBAC-—- D
F 7 ZBAC & ZBOC iZa Uil BC i<
ST AHEfERLAOERICHEDT

ZBAC = 50° X% = 25°

Th b,

@ &o

ZABO = 70°—25°
= 45°

/BDC=x &3 5&

BC=CD kb0, ABDC Bl =fAf7»5

ZCBD = ZBDC = x

BREGODL 2HOERED

Z/BAC = 4CBD = %

*t LACB= ZCDB+ ~CBD = 2x

AB = AC XD,

NABC B U=/ I0 5

ZABC = ZACB = 2x

£ » T,

NABC oA DD

180° TH B T &b,

x+2x+2x = 180° L ¥
x = 36°

Lidi-T,

ZBDC = 36°

FoRizB VT, AD 1 ZBAC O 581D 5,
BD: DC=AB: AC=6:4=3:2 %D

Dc:5><%:2 NG

F72, AE X ZBAC OHADO ENRIEI S
BE:CE=AB:AC=6:4=3:24D
CE=5%X2=10 - ®

®E®@%&bH DE=DC+CE =12

MGRELTHED D,

HfE BN % 2 0 1IN Y 5,

£-T, BG:GN=2:14kD

AAGN : AABN=1:3

7/ AN=NC &b

AABN : AABC=1:2

Licis-> T,

ANAGN : AABN : AABC
=1:3:6&70,

AABC @ﬁ%éig




FEIVEE AREET—-F¥7TX b
[ 5-2] & LHE

1 0= <

") 1 <fi{§ﬂ:x:3/ﬁ—2<x<3>

2P —8x+16 = 0 OffIZ
(x—4)7=0Xvx=4 D%

At XTI
B (KBl a=1,b=2,¢c=0)
@B (INTOEFREROLIETH5)
B XH:n=28)

Liz-T, BERZ4HE Fi@

oI, ANB={1, 6} Z»o
A=1{1, 2,4, 6

(3) 4 DEHOES I
{4X1, 4X2,4X3, e , 4% 25} T,
= DEFROMEEE 25
BDREBODESIE
{6X1, X2, 6X3, e , 6X16} T,
7 DOBEFOMEBIL16 H
4 &6 DAEEI120MEE 75, 2 DBEAR
{12X1, 12X2, 12X3, «weees , 12x8) T,
ZOEFROMEEI 8 H
4F 7146 TEIDUIN BH0E 25+16—8 = 33 (i)

4) OmEx=4=>x"=16] |z&
FoMilx, A
FoTx=4Fx"=16ThHs0HD
THEUTH 2 BHBELRBETI N,

OmElx=—4 £l x=4=>%x*=16] i1H
Foih, B
XoTx=—4Fida=4tx"=167
HBIDDMETHELETH B,

OmE x|l >0=22"=16 ] 1345
Z oy, B

koTlxl >0 x*=16 Th oD
WHEEHTH 5 BTN,

@HEx<0=>x=16] 215
ZoWh, B
FoTax<0izx"=16TH 2100
BBEEHTOSTREHETET O,

Ltchi-T @

B)l$%%t@<bé0ﬁﬁm%$ui%—

S 18| No.2

[ B-3]1 560K LMESE

(1) BFH3AlSHEZSI =6 GEL)
LFP3IANESAHER S =6 GED)
BUBLB L E LR LB LERS 20T
6X6x2="72 GED)

2) 6HOBMOFHOMIE2 27121 T B,
tHoM» 2oL 70,1,1,1, 2] O~k
. 5!

725 W =20 (@)
THORBIoEET0, 1,1, 2, 2] Oli~F
51

ff?b}ﬁo m =30 (@)

g
iof,6%@%§Mim+mﬁ:m(m)

8“3
KoT, D ES1IANYE L UThBHER
2 DRFROWERI NG

Co_, 5 _B
O 28 28

1_

) 2fADEEREFRD, TLRFLHELLS
kb 2 HER I

5.5 4 _ 4 41
[V A BTV G B L
9 9+9X9 81

[B-41H=21IO
(1) YA D &LT5&,
BRBIODEMBEE DD

D >0
(=3)?=4xX1Xm >0

—4m > —9

9

<_.__

me

2 y= —x"+tdax+a’
= —(x—2a)"+5a* L v,
x=2a DLE, BKREN S &3,
INB5EhS
5a° =5
a==*1

(8) AABD & ACBD &7

Hﬂ 5

2><< ; X4 X4X sin 45° >

(4) 4S,, S, %0 :d 3
ZAOB=60° T, OA=0B &0
AOAB RIEZMIE & 125,
AB=2 kb OA =2
& o THEEM S, D4R 2
F7-, ABEMS, to BEAHET S
OH =43 &30 oMENS, O¥EIF V3
T, S, ES, MBIV 2 THEDT,

zofRkE (Y3) 28 =
A

S

Sy

»

[A-5]#H2I1I®

(1) x"+y' =6 +y2) 4+ (/6 —y2)
=6+2/12 +24+6—2/ 12 +2
=16

Gl
(x+9)* = 2" +y*+2xy ZFIHT 5

ity =(Y6+y2)+(V6 -2 )=2/6 -
ay=(Y6+/2)(¥6 2 )=4- @
2yt = (x+y) 21y

= (2V6 ) —2-4

=16

2) y={(x+1D*+3 OTHEOEEZ (-1, 3)
ey BicHncEih T &
FLWESAOBEEZ (1, 3)

& - TR 2 g 0 RN
y=(x—1)*+3
(y=x"—2x+4 $7[)

(3) -L—~w % 150°
cos® 150° an
:1+tmfwwt—mﬁ1m°:i

4) 2443 =a+b EEFTENTES
1<yY8 <2 kML
3<2+yY3 <4 kT 2443 OBHEILSD
3E»S a=3
2+y3 =3+b k0
b=+43—1
k-7, bda=(y3-1)~4-3

=—8-2/3



